Trucking Along Washcloth

Copyright 2008 by Elaine Fitzpatrick. Permission is granted to make and sell items from
this pattern provided that credit is given to me as the designer. Permission is not granted
to reproduce the actual pattern, or post it, or distribute it, without my express permission.
Please respect my copyright and play nice!

Difficulty: Easy
Size: approximately 8.50" X 8"

Materials: One skein of worsted weight cotton. Sample was done in Peaches &
Creme Gold.

Needles: U.S. Size 6 (4 mm)

Gauge: 4.5 sts. per inch, not critical

Abbreviations:
k = knit
p = purl

sts. = stitches
dec. = decrease

Pattern Note: The edges of the washcloth are worked in seed stitch over the first
and last five stitches (p1, k1, p1, k1, pl) and are referred to as “B5”. You might
find it helpful to insert a marker after the first five stitches and before the last five
stitches.

Pattern: Cast on 38 sts.



Row 1: pl, k1 across row.
Row 2: ki1, pl across row.
Row 3: pl, k1 across row.
Row 4: k1, pl across row.
Row 5: pl, k1 across row.
Row 6: k1, pl across row.
Row 7: pl, k1 for 5 sts.; k28; k1, pl for 5 sts.
Row 8: ki, pl for 5 sts.; p28; p1, k1 for 5 sts.

(Note: From this point on, the first and last five stitches are the seed stitch
border. (BS) It might be helpful to place a marker for these stitches.)
Row 9: BS5; k28; B5.

Row 10: BS5; p28; BS.

Row 11: BS5; k28; BS.

Row 12: BS5; p28; BS.

Row 13: BS5; k10; p3; k7; p3; k5; BS.

Row 14: BS5.; p4; k1; p3; k1; p3; k1; p3; k1; p9; BS.

Row 15: BS5; k9; pl; k3; pl; kS; pl; k3; pl; k4; BS.

Row 16: BS5; p4; k1; p3; k1; pS; k1; p3; k1; p9; BS.

Row 17: BS5; k6; p4; k3; p7; k3; p3; k2; BS.

Row 18: BS5; p2; k1; p2; k3; pS; kl1; pl; k3; p3; k1; p6; BS.
Row 19: BS5; k6; pl; k7; pl; k10; p1; k2; BS.

Row 20: BS5; p2; k1; pl0; k1; p7; k1; p6; BS.
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B5; k6; pl; k7; pl; k10; pl; k2; BS.

BS; p2; k1; p10; k1; p7; k1; p6; BS.

B5; k7; p3; k4; pl; k10; p1; k2; BS.

BS; p2, k1; pl0; k1; p3; k1; pl10; BS.

B5; k10; pl; k3; pl; k10; pl; k2; BS.

BS5; p2; k1; p10; kS; p10; BS.

BS; k14; p12; k2; BS.

B5; p28; BS.

B5; k28; BS.

B5; p28; BS.

B5; k28; BS.

BS; p28; BS.

B5; kS; p3; k7; p3; k10; BS.

BS; p9; k1; p3; k1; pS; k1; p3; kl1; p4; BS.
B5; k4; pl; k3; pl; kS; pl; k3; pl; k9; BS.
BS; p9; k1; p3; k1; pS; k1; p3; kl1; p4; BS.
B5; k2; p3; k3; p7; k3; p4; k6; BS.

BS; p6; k1; p3; k3; pl; k1; p3; k3; p2; kl; p2; BS.
BS; k2; pl; k10; pl; k7; pl; k6; BS.

BS5; p6; k1; p7; k1; p10; k1; p2; BS.

BS; k2; pl; k10; pl; k7; p1; k6; BS.

BS5; p6; k1; p7; k1; p10; k1; p2; BS
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B5; k2; pl; k10; p1; k4; p3; k7; BS.
BS5; p10; k1; p3; k1; p10; k1; p2; BS.
B5; k2; pl; k10; p1; k3; pl; k10; BS.
BS5; p10; kS; p10; k1; p2; BS.

BS; k2; p12; k14; BS.

BS5; p28; BS.

B5; k28; BS.

B5; p28; BS.

B5; k28; BS.

B5; p28; BS.

B5; k 28; BS.

k1; pl across row.

pl, k1 across row.

k1; pl across row.

pl, k1 across row.

k1; pl across row.

pl, k1 across row.

Bind off and weave in ends.



